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THX Sy - THE - FER - sl B B B B G = A & | R (GBS
WOT 7 Bk FHF-32/45 HfE T
& 25 3,715 92, 875
JE TR IAHERE T (28 %8)
= 1 370, 285
L TE A U HF-200/NH-180
& 15 14, 651 219, 765
L TE A U HF-250/NH-220
& 10 15, 052 150, 520
JE PR IAMERE T (B B RS
= 1 60, 370
B 5 s s U 200V 6A 77777 4/
& 10 6,037 60, 370
B R
= 1 1, 058, 637
B R
iE3h| 105 8, 445 886, 725
AT B S s
iE3h| 24 7,163 171, 912
[EEE AR
= 1 117, 978, 366
MR E
= 1 13, 760, 323
B ST ¢
= 1 2,920, 123
T
= 1 160, 007
TR A LY
= 1 147, 882
- 11 - EhARimEE  HER T




Bl =%

THEX Sy« T - R - A5 B B B B G = A & H R (GBS
% T R R R
= 1 6, 046 6, 046
HEKE T 7 R
= 1 6,079 6, 079
HTE
= 1 53, 477
B B HE R FEART IR
= 1 53, 477
BUGERRYCER (K5 1)
= 1 2,706, 639
MR R (B L)
= 1 10, 840, 200
g
= 1 131, 738, 689
BTk Xegiiv oy
= 1 56, 027, 255
B 5]
= 1 187, 765, 944
— R B
= 1 29, 229, 056
T HAlik
= 1 216, 995, 000
THE B 2 %8
= 1 21, 699, 500
TG
= 1 238, 694, 500
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